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=z wE | R T  EH
SHGT 4 S| W% | () &% (1) miE | R | zm | B (ED
Y3002 =4 (AEA) 5 5,238 1,728 594 594 | BN 5kg
31200 ||LH3E 10 2,921 59 59 54 BW 513
31700 ¥ Y 30 5,184 1,728 1,728 1,728 | &M 31l
31000 M X 7 5, 346 864 864 504 | B Tkg N
34500 E—= 8 5, 405 70 70 70 EH (E™
35220 XM XOHEE 17 7,603 486 432 432 | BN 17kg
35303 RS v TEXAL D 10 3,958 432 432 324 | B 10kg i
Y3033  ZWIT 270 46,116 270 162 54| BN 270kg
33400 L & % 25 6,718 140 140 119 | B 500 |
38100 A L\ 7=iF 3 3,809  1,512] 1,404 1,404 BN 3kg |
Y3030 EIEE (F) 1 1,458  1,458| 1,458 1,458 BA 1kg
41390 FAMA 60 16,978| 1,620 1,620 1,188 | S 12% v b |
41410 LEL T 2,673 49 19 19| B 5508 |
41481 F 2Ky 10 1,728 864 864 864 | P4 2%y b
46108 X MMEDONEE 13 15, 066 378 356 324 BN 42,3y 7
71011 A7 L—%5 5,616 281 281 281 | BN 20 |
71011 A7 L —% 24, 840 65 43 43 BN 50074
71030 R EF 5, 087 119 65 22 BN 10574
71032 K5 EF GR) ? 2, 268 43 22 16 | B 807
71040 ENE 1,296 | 130 | 130 130 | B 10K |
71150 | LI 1,080 - 43 32 32 | BA 30
53456 =77y 2| 1,093 497 497 497 | BN 2kg
Y5003 3 HEE 2| 184 108 108 108 | B™A 2kg
Y5004 g4 27 16, 038 594 594 594 | BN 27kg
30100 72WVWZ A 2L 50 6, 804 162 130 130 | IR 504
30100 72V 2 A B 120 7,852 756 648 594 | VR B 128 |
30300 A% 80 12, 528 1,728 1,728 1,404 | B 84 — =
30300 A% 99 21, 967 119 108 108 | Bl 1984% |
30400 ZIEH 12 1, 264 32 32 32 | E# 394%
31100 B 300 21, 600 1,080 1,080 1,080 EIRE 204 — R
31200 [LiF3E 4 702 | 43 32 32 BRE 2045
33500 ¥ &% L 1 778 | 65 65 65 1@ 124%
33810 HHHE 4 1,512 76 76 76 B E 2048
Y3072 Rbe—Y—7 3] 2, 268 76 76 76 REA 304%
Y5005 4KFEAN 5] 1,534 1,534 1,534 1,534 | K45y 1 —=
31700 F X 150 | 19, 656 1, 404 1, 296 1,296 IR E 15577 — 2
31800 1E D HAE 10 6,723 140 135 130 | FEA 5048
31950 MR 9 3,132 1,080 1,080 972 | E 37—
34300 7p 2L 25 8, 208 2,376 1,512 1, 404 | REA 54— A
34320 ~NWFHF M 3 713 54 54 32| @ 167
34400 k-~ h L 12 8,748 2,916 2,916 2 916 fEA 34 —A
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a—F 4 LAk | B (kg) EM) | mE g el | PE HE (%EJD

34460 I =L F L 5 3, 802 184 140 140 IR & 243> 7

34100 HAK 30 13, 608 2, 376 2, 376 1,728 | Hi% 6 —=x |

34500 E—~ 1 M 6 2, 052 43 32 RIERE 6043 |

34571 T U A (GR) 2 1,188 130 130 108 #&[H 10#

34572 STV h () 2 1, 080 108 108 108 | #[E 101d |

37200 'L x 9 M 2L 4 756 756 756 756 | H1[EH 17—

33400 | L ¥ 12 3, 370 151 151 130 | 5 2418

33410 | Hr=—L & 2R L 3 1,620 108 108 108 | HER 154#

38100 A LW 10 9, 288 108 97 65 | ‘B IR 10073y &

31310 A3 5 3,510 140 140 140 |45 2548

31500 /hRAZE 12 6, 156 130 86 86 BB 604

32500 | HoiE 2 1,296 65 65 65 | K4y 203K

36340 | LA HAE 56 10, 757 162 76 . == 924%

36340 & LN EH /I 15 810 54 54 54 |\ BEIR B 15kg

37560 BBIX 1 2,376 432 324 324 | 50 (a4

38400 |2 DEE 5 1,890 38 38 38 | Elf 504

38400 XD EH 15 4, 860 32 32 B2 ERE 15048

38521 SR L®UHE 6 7,128 119 119 119 | #& [ 604

40100 | BdnA 150 2, 678 216 216 119 |BEA 154 — =

41390 XA A 3L 15 8,100 2,700 2,700 2,700 EIRS 37—

39310 W} 23 2,246 65 54 54 | B I 394%

43770 PHE X 95 2,052 108 108 108 | & EX 1947 — &

49100 | X FF 240 10, 692 1, 080 540 108/ 74 VL 20 —2

Y5006 $BER (B44) 120 39, 571 3,488 3, 164 3,164 FERE 1247 — A

Y5006 EIR (B4 56 16, 502 2k 212 190 |EEVR B 808y s |
aat 2,283 | 471,170 |
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